] 6. 2 Python FEFACHS
import numpy as np

import random as rm

def activity forecast(days):
#OIEBIRIRES
activityToday = “Sleep”
activityList = [activityToday]
i=20
prob =1
while i != days:
if activityToday == “Sleep”:
change = np. random. choice (transitionName[0],
p=transitionMatrix[0])
if change == ”SS”:
prob = prob * 0.2
activityList. append (“Sleep”)
pass
elif change == "SR”:
prob = prob * 0.6
activityToday = “Run”
activityList. append ("Run”)
else:
prob = prob * 0.2
activityToday = “Icecream”
activityList. append(“Icecream”)
elif activityToday == “Run”:
change = np. random. choice (transitionName[1],
p=transitionMatrix[1])
if change == "RR”:
prob = prob * 0.5
activityList. append ("Run”)
pass
elif change == "RS”:
prob = prob * 0.2
activityToday = "Sleep”
activityList. append(“Sleep”)
else:
prob = prob * 0.3
activityToday = “Icecream”
activityList. append(“Icecream”)
elif activityToday == “Icecream”:

change = np. random. choice (transitionName[2],

replace=True,

replace=True,

replace=True,



p=transitionMatrix[2])

if change == "11”:
prob = prob * 0.1
activityList. append(“Icecream”)
pass

elif change == "1S”:
prob = prob * 0.2
activityToday = “Sleep”
activityList. append(“Sleep”)

else:
prob = prob * 0.7
activityToday = “Run”
activityList. append ("Run”)

i+=1

return activity

# I0FEEHRA activityList
list activity = []

count = 0

# ‘range ME—NSEIFHEGE, —HIEE-ASH CRAEED
for iterations in range(1, 10000) :
list activity. append(activity forecast(2))

# HAEILKBIMAA activityList
# print (list activity)

# WIAIER, BEITERERSERIPN activityList
for smaller list in list activity:
if (smaller list[2] == "Run”):

count += 1

#TF SRR SRS T 46 BB D RS 45 R i %
percentage = (count / 10000) * 100

print ("The probability of starting at state:’ Sleep’ and ending at state:’ Run’ =

str (percentage) + “%”)
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